Group Quiz 1 Name: WZ} g
Dusty Wilson
Math 152

No work = no credit

;
(1.1) Use the definition of the definite integral to evaluate I(xz —3x+ 4)a’x exactly.
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(1.2} Consider Jlsin(2x)dx . Suppose you intend to approximate this definite integral using Simpson’s
O

b
Rule. You need your results to have error FER‘ <0.008. Findnand S, .
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(1.3) This morning | looked up high school dropout rates in King County over the last few years. iftis
given in school years ending since 2000, we can model the dropout rate (in students per year) over the
puvem——

last six years with D(r) =294 —=711#* + 5500t — 12600 . Use Riemann sums to approximate the total

number of dropouts between 2008 and 2010. Compare this to the actual total of 5836 dropouts and
explain the difference.
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